1. Jitiss B OSER DAL

S S ey HEMBTEA B $33.10.01 EEAFH $35.04.01
b =R =R WA A B T122.11.5 S G
FFATR S HiEh FeE RSO SORMEU AR
- i 220 10:1 2 BaE b O SEMAIEE IALH i = 2ANLL k=R
U # - - A RSB O Hiusk e Sl W7y | fxEn 15,000 [ | A - H
it 57 - - @A nasmilisinaEy: O R Eighemi MR | BRI 4,320 [ | IR - N
& i - - O RYuEHEEERREE O MR b KGR (FIE) 60 J (27.3%)
B % E - - O~ R L AU e BlAT R R E R H28.4.1
it 220 -
Rk EBEFEORN
WBEO NG AE | REseRestoR| | 4 AR Y2 O NICU-FRg = v v g O T
975 e i 2% 4 i A 19,700 i A ANTiEhr 4 JEEERE IR U AT @2 v U EaEEAcH
BRI B O R A (4UK) O ICU-CCU @A B (hdip) 2 O e Y i A EhERER
i - @ wwamik @ xo—%% 2 FHE
6 T8 PR ] bl SEhIEE O fhatE 4 s e Ra gegct
ICU I3 o =vh w2 =4 vz EH O BEdcAs e
RS =%k | |cCcU IS Z DAL FIENE PR
@2 e 10.0 A | INICU K MR TRIRE R 2K 2 —Z ORI PRI
O Rsfsh - i Bt - Al|piIcU K IR TR R O s v EFINLT
NG 4.0 A ALre7rs 8 A—FV T VAT A
v sE 4.0 A JPi IR DB T A R A EFEEE O 2ol ( )
a #psE 2.0 A | B 9 O K R (R
A s R - A 4 |NE-ESEAR100) 5 R R AR O AR AR
VKB ORER 1.0 A 3 |NE-wIRERE 3 |NHREESNT—TL e E
AN 1.0 A PES ANE -/ NREHTO0) 1 |l
v =728 - A 2 |4MFHB0) 17 |BEEZHEE
2 BEOAZIE - A 3 IXBTLe iR E
A R 1.0 A 2 | SRR EE
A R A D AR 1.0 A 1 O AR R R
@A mIuE 1.0 A 2 |mra—AWERE EE (CT)
a zofth - A 1 | BERIEETE R 258 (MRI)
Gl 18 fFAE 2R B 25.0 A UFL—ar T H—
1 [ FL—ar A7
EERREE () J93 PR BRI 3 BT A UFL—ar AR —
= Al 25.0| URFRERRY 12.0] | 40K 2 war|  55~59K B 5 | &R e E
FHHEEM 187.9| EkMA LM 13.5 40~44K wie|  60FELL E we| | 16 | A Tmprmm
KA 6.0] UNEUERM 6.0 | 45~49K 1 Hfir N T
M 18.0] = o fh 7.7 50~54IK 2wk kS 5 Hific YRR e =S iy
Fa M 3.0 7t 279.1 DAL E B BT RS E
REDNEB [LA—4—
E AT Fe BRI (29.5.1FU4E, A, %) 2AZREH | 3RHRH /HERR | 3K /R | 10 | A—FT T TP —
X 4 |8l BB R TR A Wi 3O~ 1 oWk 3 oA 1 BB
i B | 26.6] 19.4 -1 137.0 A HL2 A 4 Wz 2 A 4 i R 1 S D 4 B
Jiti 7% T 24 31 7| 77.4 A Hifi A Hifi A g SEL R
TRETR IR
TR RENE T4 ONE 6 | T UL KR (R LR
B R Z i XkaarE (M, H) A9 N BT
= A RN WIEFF 4 A 01004y 04300 T ~10043 D8OLL PRAFY =T — )1
P EEER T Y 138(2->%500H ~1,000H H Bl g 2= &
SIRFY 143 112->%10,000 1 |'BEERTER
T RIEFEHETY 1ENZ->%2,000 1 ~6,200 1 | AR
R 1[E[2->& 1,000 ~2,0004 L BT dEE
EWHITR | FHETY 1ENZ->%1,000 1 ~2,000 1| i B G-
B OB AL K OEMEAE A B
WA [ OFARLIEAH LA
TEIXIAND | 9% 7 4
= e — X 19
(27.10.1Bi/E) | tHRIZWIT 18




[mee [ =wiivi=ymbe |
2. WA AU S D AR (42 TH) 3. 100 4720 R (B 1)
O O 200~299%
264K QTHESE 284S QTHESE 284F T2
H H H H QTFEE)
1% I | 5,311,568| 5,674,471 5,514,942 |1 #& 114 %] 2,579,305] 2,506,792 1,838,193
(HE ¥ I %] 4,437,002 4,587,342] 4,609,100 () E U | 2,085,155 2,095,045] 1,504,981
7 AN BE W 28| 2,672,875]  2,723,897| 2,668,713 A BE I 2§ 1,238,135 1,213,051 956,184
A 4 kIR 2% 1,455,324]  1,533,898| 1,581,153 g ko 2% 697,226 718,706 430,346
v Ol E L 308,803 329,547 359,234 f 2= F A H & 38,866 38,866 54,923
fit & 3 & H#H & 85,506 85,506 85,506| |2 E % 4 UL i 418,220 398,509 285,528
%= OB 25 A I AR 47,591 48,194 80,902 fih 2 F Al B & 83,013 79,879 61,615
N A AT TR 90,793 106,437 96,918 fit & F A #H & 87,661 105,111 119,626
E A I A 35,215 37,294 34,626 |3 & Bl F A 75,929 13,238 47,684
e D fth 49,698 52,116 61,282 fih = 3 M A & - - 20,259
@ E ¥ 4 I i 808,873 920,085 876,719 |2 #& # Ml 2,699,225 2,696,189 1,921,172
7 S HURE R OB Y 4 - - - nE % # Al 2,544,670 2,538,707 1,745,475
A4 F #& 7 bt I AR - - - B OB & 5 % 844,995 859,436 866,323
A= I O T - - 617 # s # 581,912 598,623 314,178
- #E AT RO B & 10,921 10,026 11,267 E i # 319,956 308,387 159,385
F & B oM OB & 162,046 182,628 175,733 % # 757,970 762,776 408,615
o= F A H e 103,819 192,854 231,244 % B # 326,101 330,567 168,911
F RWMAIZ&EA 485 478,459 406,209 Bl EOH % 347,723 307,744 140,462
Ve T 8 D& - - - B WF & # 10,714 8,761 5,777
o E A KRB 1,064 1,289 1,346 |@E % 4 #H H 152,267 155,186 108,579
o OO EFESEE 530,538 54,829 50,303 x o FM A 48,240 47,294 27,321
(C)IE S| B Ea 65,693 167,044 29,123 |3 & Wl i} ES 2,289 2,295 67,118
PRCR S PN - - % w ) % - - 17,205
2 i i Ml 6,667,358] 5,938,296 5,931,616] |#* w # IS 193,561 200,340 80,750
mE %  # A 5,336,617 5,598,273] 5,585,156 [ F =% - - 21,809
7 W B # &5 % 1,778,592 1,858,989] 1,890,759 [l # ES 119,920 189,397 104,788
A4 ¥ Bl | 1,157,857| 1,280,207 1,316,970| |fhisxaEti ASGRERIFIZEEERS) 209,540 223,856 256,424
ES i & 673,516 703,904 678,452 %% WO 3 oH 92.8 92.6 96.6
fa B M OB % - - - =¥ O X Mk % 81.9 82.5 86.2
7% #| 1,615,311 1,667,533]  1,678,107| |Mhxatik A E IR 10.0 10.7 15.7
& it # 38,131 26,655 30,974
e B ok & 90,512 94,854 89,630 4. BEARIIUNZ DRI (BN )
% it Bt 657,820 717,423 727,247 O
% S 2 1,596 1,592 1,463 H H 2O 2RI 2B
B & wm F # 779 998 724 1 4 ¥ 1& 42,000 20,000 31,000
R A # 41,156 29,303 26,322 2 fl = FH M E & 176,629 241,844 222,270
e %) 1 785,317 796,708 801,747 Bl ot aEse - - -
- B O A # 757,052 764,991 677,036) [ 4|4 fin = 3 & A & - - -
F &' E W OE 3,371 2,983 3,010 5 fth & B Al B & - - -
B % W & # 24,434 23,570 19,274 |f9)6 () #hiBh & 672,500 - 167,000
Jk # 12,881 12,272 8,988 (a D 1t - - -
# g 4,514 4,504 4,929 " A FH @ 891,129 261,844 420,270
- D ft 7,039 6,794 5,357 | e~ o 4 4 ) - - -
@E ¥ 4 % H 325,011 334,988 341,410 AR R AT CAME LAY ) - - -
7 X & M B 106,988 106,129 104,046 fii § @-{b)+)} (d) 891,129 261,844 420,270
1w ¥ AR 106,893 105,062 101,521f [t otk R Of 914,679 71,198 249,834
B KN = 95 1,067 2,625 |xl|2 12 ¥ i i E & 132,253 209,706 182,140
A AR FE OB R GE - - - B3 Mt R A G o - - -
vE % ¥ b % - - -1 [l = » fth - - -
T & E B E R 46,679 50,071 54,254 i X H i (e 1,046,932 280,904 431,974
4 B G BB - - - ZHIAREE(A) [d)-(e) 155,803 19,060 11,704
B O E A 171,344 178,788 183,110 [l B E R IRE S 151,917 18,829 -
@)% B B K|l 1,005,730 5,035 5,050] |-c|2 PRS2 SEH - -
% ﬁ‘? # | A 415,753 A 425,834] A 440,747 |43 M BT F & & - - -
il # | A 1,355,790 A 263,825 A 416,674 Ml = D i 3,886 231 11,704
BB X & 4,720,644] 4,984,469 5,401,144 " 5 i () 155,803 19,060 11,704
R B & % - - - Ml A MR A R FDO-(9) - - -
AR OE OB Ok E - - - MR ATECAAEA - RIEATOH - - -
fin 2 3 % A & B % 351,371 460,988 492,483
n (& AR 5y % 5 Ts) 528,000 702,832 714,753




EZAEERTEN
5. BRESHTIZEA 5
O 200~2995K O 200~2995K
QTHEFE 2BAEFE | BTy 2THEPE 28EFE | Bk
H A (2T4EFE) H_H (274EE)
— % 82.0 80.2 76.1] 10 W OB K (R 1 4
S - - 928 |11 H K OE (%) 0.3 1.7
IRl W - - 16.1] | 12](1) ERIZELUUS
(%) A - - 7221 || AR (%) 1.8 3.0 1.4
JYE - - 2.6] | BH (@ ZERIZEFIS
G 82.0 80.2 771 || UG (%) 0.8 1.5 0.8
2 ERITERT B A (— R R) 15.2 15.4 16.7] | 48] (3) spbEsE SRt
R E 1S WNE /B[ 8.5 5.1 wEEOEE (%) 30.0 27.3 13.4
4 1(1) 1HEY ABE 180 177 195 13| (1) ERR 9.1 11.4 12.1
Bl BEHON |k 409 394 171 | —|@| 7 EiEd 82.3 84.5 57.6
(2) FMR BB L (%) 150.5 148.7 148.71 1O ﬁ A HEFERD - 0.9 1.9
H|G) A | | A 9.0 7.2 6.2 O ;g v FlkBhF - - 6.1
1A1H sk 13.6 10.7 9.2 |HE|pm| = &t 82.3 85.4 65.6
| M0EE | BE | AR 1.0 0.8 L2 | 3]Q) FEHIEM 3.2 2.7 2.9
(N | fBM | Sk 1.5 1.2 1.8 = | (@) FHHM 7.7 8.2 10.4
5 7 A 78 41,253 41,422 35,908 0 |(5) FaEEM 0.9 1.4 2.0
& b's 926 920 492] | M| (6) ks 5.5 5.5 2.7
| = 5 3,891 3,679 906| | B | ERRMRATM 5.5 6.1 3.4
I E - 9,014 8,301 7,281 |6 oA 4.1 6.2 13.3
E I & 2,812 2,625 669 (9) &8 118.2 126.9 112.4
—| R 1,868 1,656 319 |14 1Ry | EEEE 44,124 42,010 18,124
A A BE OB 18,778 20,441 22,739 EEEE |7 &% 36,495 35,412 14,627
I —|  ABEREAEHRE 1,514 1,545 1,389 (F1) A Fh I 5,554 4,774 2,791
H O fh 2,450 2,255 2,111
S| 1 4 % 15,439 16,500 10,452| 6. JEAERIHS 526 2B 3 2
7 w2 B 475 516 339 O 200~2995K
n B2 8 659 665 599 2THERE 28FEFE | BT
Z| & -8 733 1,246 1,362 | H (2THEJE)
U s it 3,479 3,641 1,543 1 FHE
N LY L fE - Tl 1,140 1,207 1,168 1) SE¥fe5-H %6 (FH) 494 495 482
A B i3 3,788 3,868 2,442 (2) ¥ ) 48 47 43
. P 2,724 2,674 1,283 (3) FHIFRBRAES (4F) 27 26 18
- O fh 2,441 2,684 1,716 2 [ERR
BEINLVZEIAN 25,746 26,519 20,688 (1) FEHFe 5 A (TM) 1,408 1,398 1,413
() BE1IA1R | EAf 581,666 475,270 317,319 (2) ¥ %) 45 44 46
MBI (H)| Fik 64,272 53,378 62,043 (3) TEHIRERAEL (4F) 19 18 17
6 (1) BEIALR | 8I 803 1,060 635 3 FE e
W | 3,454 3,173 1,511 (1) a5 A%E (M) 407 408 455
(M) it 4,256 4,233 2,147 (2) ¥ ) 36 37 39
(@) ABEBEEIALH Y7 (3) AJRRERAEHL () 14 14 15
Vs MR (1) - - 263 4 HEETERT
3) (2 S 101.0 105.1 159.4 (1) FHFe 5 A& (TM) - - 487
A EESERZE | B 105.5 115.2 85.2 (2) ¥ %) - - 49
(%) it 104.6 112.7 107.1 (3) TIFRRERAEL () - - 26
7 BRI | (1) BEEERIA 17.3 18.0 11.1 5 EREHEIME
A5 [(2) AIA 13.2 12.7 8.4 (1) FHe 5 A% (TM) 444 449 469
FE (%) | () BOEHHRIA 9.3 8.5 4.3 (2) I (%) 39 39 39
8 EHU | (1) WkEA G- 40.5 41.0 52.1 (3) FIFRRERAESL () 17 17 16
W5 [(2) L 15.3 14.7 9.5 6 FOMI%E
(%) |(3) ZofprEHE 12.6 13.9 8.3 (1) FHe 5 A% (TM) 519 514 438
9 | (1) BF100 Lok 737.7 725.2 409.4 (2) I (%) 53 54 46
| @) " XHE 3 19.8 22.3 20.0 (3) FIFRRERAESL () 34 35 19
kﬁ (3) BRaEHALA M0 B Pk 101,670 86,085 91,489 7 2B
;f (@) 7 BRERACTH) 46,839 39,987 38,650 (1) FHe5- A (TM) 494 498 557
e [ (5) XHREAHT A K0 XHE K 2,728 2,981 5,256 (2) F¥)F-n (7% 38 39 41
Bl v XBULAGER) 32,836 30,242 23,495 (3) TIFRRERAES () 16 16 16




I7 e 4 SRS =BT

7. EAGIZEIT 55 (HLAL: FH) (Bfz: M)
o O
QTR 284F I 2T 284EE
H A A
LW 7 e = F % 85,506 85,506 Q7 M = F H Y A - -
B B & | FEeA 85,506 85,506 H MeoON & | A - -
= | o) e 4 85,506 85,506 i) 2 3 Be | gy - -
] BB B | ) § ()Eﬁz$7§/ ,E%ﬁ
ES ESE YN 85,506 85,506 Bl % # | FERAR - -
IO 4 4 | KU - - Wl = o i | EwALE - -
I | 4% 17 B | EAR KR - - 2 1 Y KA 146,763 216,507
! ~ Dpammpa |58
O & o | FEHEAK - - ESC YN 241,844 222,270
@7 h = FH | KU 182,628 175,733 |7 B R W B | A% 111,164 91,590
wioB & | ERAHE 182,628 175,733 ( & & ) | F=wAm 206,245 91,590
(7) WFZE & 2 | % 11,000 13,161 Al B F % B | K#¥E4HE 35,599 124,917
% T E e | ERAEE 11,000 13,161 (R URE) | B 35,599 130,680
=) = R OfE PR FEER 12,342 12,342 B o AN BE g | 4 - -
X R R | SR 12,342 12,342 77 v R B | ERAE - -
() 3 % B | A A 34,670 27,987 Elx = ) fit | FER KA - -
# | FE A 34,670 27,987 (2) i = B I e AR - -
s * i FE 4 Yt %A 41,793 35,878 A H G| FE A - -
| (I)mmzﬁfgﬂ’a %4%} , , e i i & ;@f%J\I%;
o kg | FERAHE 41,793 35,878 TR R % B A - -
k) E %8 - - s & EX YN E| - -
()%%@IH% %nﬁé?}’ﬁ A ( 75 &) 9%1’%7\?‘5
ESC YN 1| - - S % & B | R - -
20l N o A e 14,270 13,655 | 4 (B R E) | A - -
Ju H =]

TE ESCYN 1| 14,270 13,655 . ) fin | FEHeAKE - -
¥ B 68,553 72,710 3 % %A - -
UI‘?EV\?%%F)T e Uﬂﬁﬁ%ﬂﬁﬂb@ %E%

ESSCYN i) 68,553 72,710 ESC YN - -
e | @) & 3ER BE | gt e g - - 7 I 4 - -
SET7 | $FHEH B Hﬁﬁé

% 2 | ERAK - - ESE NG - -
) () FEE SR D | 4t e g8 - - RN ETYY - -
RS EST Y| - - ;‘; il 460,988 492,483

\ i g | ARAT 3o EmA s [ T ’ ’
W@ £ O fl | FEERAK - - ESC YN 460,988 492,483
A4 = F I UE FH 192,854 231,244 I Y A 146,763 216,507

- 4 K MR 4 R *

B M & | ERAR 192,854 231,244 ESUYN ] 241,844 222,270

A 7) % K % %8 52,619 50,812 ) Y % 607,751 ,
() %o B R N YR 708,990

( ® B ) | ERABE 52,619 50,812 ES YN 702,832 714,753
YA - -
@ ~E R | e e ~
EX YN 5 - - 8. ARZEMEIZEET 5
) I 4 - - FE
AREHEMX [ i 2TARE 284FEE
4 F AR - - H H
¥ 3 _ _ I [ E'!‘ - Té,‘
(=) o R B R & ¥ EF 1 _ {J 5,044,856 4,893,716
ESTYN ] - - B & 3,907,620 3,779,027
) %5 - - OB & & &8 FiF4 - -
Do [ &5 @ I &
ES YN - - 2 .55 /LA IR 17,870 14,751
Y %A - - NE & F
()] R 5 I X e @) % /A T & mh B T% 1,054,866 1,017,438
ESCYN i - - ” (3) i i 1 17 64,500 82,500
F Une s — | 5 %5 2,500 10,098 (4) T H R AT LA A o 4 Rl kg B - -
va v E R | K 2,500 10,098 () T %5 N 2 f& - -
O & # AN | KM - - =] (6) 3 b A & - -
# O T | ERAEE - - (0TRSO T b A S - -
) 3 JE e - - 8) & i N f& - -
RS | ® = — -
ESU YN - -
(= e UE KH 116,235 148,834
) O RO *
ESUYN i) 116,235 148,834
b
() R B J Y KA 21,500 21,500
ESC YN | 21,500 21,500
)£ o | EEA - -




